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{. The function f(8) = 10( T + T) has a local minim

-1
‘a) cos @ —-% (b) cos @ -

bt | 1
C) sin @ “—2— (d) sinf =—
2. Let f(z) = z°+z + 6. Then f~1(6) =
(2) 0 Bz . @1 (@ 4
3. The equation 923 +bz2+6z + 17 = 0 has exactly one real root only if
(a) b]<6  (b)[6]>6 () Bl=6-  (d)b=6
EF :
4. Let F(z) = ”““B‘“"dt Then ]m} (I)
—51113
(a) sin3 | (b) 3sin3 (c) T (d)
5. Let £( [ 5155&) |
sin 7 sinz 2 sin 72 2 2sinz
PRt pimz kel gl
6. The area of the region enclosed by y =v16 — > a.ﬁd z - na:ia 'ia
(a) 8 (b) 47 (c) 167 (d) 2
¥, Ihnims(—-) = |
(a) 0 (b) oo @1 (d) does not ezist
3. limE]ﬂI=
z—0 2z
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9. The plane curve y = z cos z is symmetric about the ‘}L

4
a) = — azis (b) ¥y — azis 1:
origin (d) none of the above o .-.‘r
){10 The value nf. the number c that satisfy the equation 42+ ";’f E.‘%Edt = 8 is
@) k)3 - (o4 (d) 8
- -%1—:- The period of the function f(z) = 3sin(z + 4) is
. 1
@ Bir  ©F (@

" 12. The domain of the function f(z) =v9— 7 is

@09 ®F33 @QCwy @b
13. The area of the region enblnsed'by the parabolas y =2z—z% and y = 2% is I

@z ()1 @5 @

@ 1I4. Let f be a function such that f'(0) = 2 and f satisfies the equation:
f(z +v) = f(z) f(y) for all real numbers z, y. Then /"(0) =

L

(a) 8 (b) 6 (c) —6 . & (@) =8
- | j: f(z)d:r = 16,then fu: rf(z?)dr =

(a) 4 @ 8 (c) 16 (d) 6
L 10 f; vz +9dz =

(8) - (v) = (©) 111 (@)1

o™ T« .I:ﬂ cos r sin’zdz =

w 1 1
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2%18.. The volume of the solid obtained by rotating the region bounded by the curves y = 212 —z3

and T — azis, about y — az1s is

8 ' 167 128~ T
i ool - A} =
(8) (b) (©) s @5
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8 2 ' 4 |
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(8) ——— 0 —— 1 3 Tt g
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Q0 @—
(1 — cosy) (1—cosy)” b, i
. _~"24. The function f(z)=z*—3z + 1 has absolue maximum on [—1,3] at z = & -
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. (77e CAF prarh of the function [(x) to answer Lhe r;u;fﬁf-;n_l .f‘:f_l -7

Lo L

|
pr g 1 " d -
| #
(<) The domalnof f(x)is:
(a)R (5)R - [-2.0] (©9)[-2.0) (d) 2~ (-2} (0% - 1%,~2;
(22) tim, Iénhff(x)) =
(=) (b) -1 (c)o (d) == (2} does ot ezize
(23) f(x) kas horizontal asymptoteat y =
(a) 4 (b) -2 (€)0 (d)-1 (e)ro horizomial asympts

24) is the function f(x) one — to — one function?

(e)Ne (b)Yes

(25)The [nterval(s)of decreasing is(are):

(e)(-1.+x) (B)(~w,-2)u(-2-1) (L0 0.52) (d)(~22.—-2) (e)(—= 4=
(26)The Interval of concave down is: 3
(e)(—=.+=) (6)(-2.0) (©)(-=.-2) (d)(0.+=) (e)(—=.1)
(27) f(x) hasa horizontal tangentatx = -
a)—-1 (b)0 (c)-2 (d) 4 (e)no horizontal i
a)—

Cood luck
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3. The interval of decreasing of the
following function *
(3 Points)

flyv) = —

TeiE

(—3.0) U (3, o)
(=00, =3) U (3, o)
(—3.3)

(—oco,—3) U (0, 3)
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13. *
(3 Points)

i
lim xe's! = x =
[ —

Scanned with CamScanner



16.Let *
(3 Points)

f(x) = x7 = 6x+2, withy € (—co, 3].
Then [~ (x) =

3—JJ:+7
34 T 7
3—~J.\'—?

3+ Yx=7
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10. Find the set of all critical points of the
following function *
(3 Points)

F(x) = T -3 ifx>0
r=3r ilx<(

{1, -6}
(-1,0,1,-0)
(0, 1, -6}
(—1,0,6)

(—1,6}
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14. One of the following functions is NOT a
one-to-one function, *

(3 Points)

flx) =x*+1, xe[0,8)

f(x) = sin(x), y €| .-'1;]

W

f(x) =], x € [-3,-1]

f(x) = cos(x), x € [SF. 5
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8. *
(3 Points)

Ini 3

J‘ I{,'.' — Ell

- Int 2

vy =

20
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2_ &
(3 Points)

-1

Let F(x) = [ sinh(r)dt.
3

Then F” (In(16)) =

2

12
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F

(3 Points)
The point (2, —-4)
is an extreme vialue

of the function
f(x) = < sin(zrx) = bx

Then =3a+4b =

- 14

)

14

i
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10, *
(3 Points)

; sl 7 al
{im

;|
‘_‘“4 A =%

1

i §
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4_ *
(3 Points)

I  ___ dy =

v4alintdxne

%lun* (In(3) + In(x)) + C
tan~ ' (3In(x)) + C
Jtan~ ' (In(3) + In(x)) + C

tan~' (In(3x)) + C
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5+ +*
(3 Points)

Letk > 0. Then limx=2**3 = 01l

I— W

k>

e |12

k >

) P

k>

"aa | =

k <

ol |
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12. *
(3 Points)

simi 2yl
I — v =
1||'5+::.In-{.1'r

246 — cos=(x) + C

2\{5 — sin?(x) 4+ C

247 — sin*(x) + C

245 — cos2(x) + C
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1. *
(3 Points)

If f(x) = 2vcos™ ' (3x). Then f7(0)
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6. Find the interval in which the following
function Is concave down *

(3 Points)
flx) =—-~—r“+fu+l"‘
(—oo, =2) U (2, 00)
':-ﬁ-u ﬁ]

(-2,0) u (2, c0)

(00, —y2) U (12, c0)
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9. If f(x) is continuous, then f(x) is
differentiable *
(2 Points)

Ture

False



17. *
(3 Points)
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11. *
(3 Points)

|
IF [ 3f(x)dx=-9.
0

r

.
Then [ i ’.','lm ey
2

=3
1

Y

""*lr.'n

o],
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5.Find *
(1 Point)

i v .
- [_['I 1 sint. ¢t)

; .
24 sin x”

2x3 sin 2x
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4. Find the value of *
(1 Point)

cosh(ln 2).

4
3

3
4

4 |

a4
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3. Find the integral *
(1 Point)

R )
_r — =
sin=A

secxtanx + ¢

lan x 4+ x40

—COol ¥ +4X 4+

SeC X +lan x + ¢
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2.0n what interval is f increasing. Given
that the derivative of a function fis *
(1 Point)

f(x) = (x+ 5 (x+ I (v + )
(—oo, —=3)
(—4, o0)
(-3, o0)

(—3, c0)
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1. Evaluate the following integral *
(1 Point)

[2(a +2°). da
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